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111 Batteries, Inc. sells car batteries to service stations for an average of $30 each. The variable costs of each battery
is $20 and monthly fixed manufacturmg costs total $10 000 Other momhly fixed costs of the company total $8,000.
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The mcome tax rate for Battenes ‘Inc. is 30 percent

Required: _ ,
1. What is the break-even level i in battenes" B
2. What is the margm of safety, assummg sales total $6U 000'7
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3. What are target sales in dollars to generate an after tax income of $5,000? (15%)
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1. Multiple Choice (15% )

1.

If merchandise inventory is being valued at cost and the price level is steadily rising, the method of costing that
will yield the highest net income is:

(a) lifo (b) fifo (c) average (d) periodic

The portion of proceeds from the sale of bonds with detachable stock warrants attributable to the warrants is
accounted for as a(n)
(a) additional paid-in capital account (b) common stock account

(c) contra-liability account (d) adjunct-liability account

The Magic Co. acquired a machine on May 1, 2005, at a cost of $60,000. The machine is expected to have a
ten-year life and a residual value of $5,000. The estimated lifetime output from the machine is expected to be
55,000 units. Under which of the following depreciation methods would the depreciation charge be the greatest in
2005, if 9,100 units were produced in that year?

(a) activity (units of output) method (b) straight-line method

(¢) sum-of-the-years’-digits method (d) double-declining-balance method

. The content of the statement of cash flows would not include which one of the following items?

(a) stock dividends (b) purchase of capital stock
(c) redemption of long-term debt (d) issuance of long-term debt

Under the equity method, dividends received by the investor should be recorded as
(a) a reduction in the carrying value of the investment (b) dividend revenue
(c) an addition to the carrying vatue of the investment (d) investment revenue

IL. The 2004 and 2005 financial statements for Tamkang Co. had the following errors:

a. Ending inventory was overstated by $8,000 on December 31, 2004 and overstaled by $5,000 on December
31, 2005.

b. A five-year insurance policy costing $20,000 was charged to expense when paid in advance on January 1,
2004.

Depreciation expense of $12,000 on new equipment was omitted from the 2004 financial statements.

d. Major improvements to Tamkang’s manufacturing plant costing $25,000 were charged to expense in 2004
and should have been capitalized. Consequently, annual depreciation expense of $2,500 was omitted from
the 2004 and 2005 financial statements.

e. $7,000 of wages earned in 2004 but not paid until 2005 were recorded as an expense in 2005 instead of
2004.

Tamkang Co. had reported net income of $90,000 in 2004 and $95,000 in 2005.

Regquired:
Prepare a schedule to determine the correct net income for 2004 and 2005. Begin the schedule with reported net

income for 2004 and 2005 and work to a corrected figure. Ignore income taxes. (20%)
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